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HRMS T_STATEMENT
5 - STATENO UMBER HRMHS_T_COUNTRY
* TYPE VARCHAR2 (10 BYTE) P * COUNTRY_CODE CHAR (2BYTE)
STATE DATE  DATE COUNTRY_NAME VARCHARZ (100 BYTE)
* AMOUNT NUMBER COUNTRY_ENG_NAME  VARCHAR2 (100 BYTE)
* BALANCE NUMBER COUNTRY CH_ NAME  VARCHARR2 (200 BYTE)
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STATE DESC  VARCHAR2 (100 BYTE) CURRENCY_NAME VARCHAR? (100 BYTE)
F * ACC_NO VARCHAR2 (20 BYTE) PHONE_CODE VARCHARZ (108YTE)
[&= Hs_T_sTATEMENT PX (STATE MO} HRHS T_RECIEVED am HS_T_COUNTRY_PK (COUNTRY_CODE}
P * RECEVED NO NUMBER
[ HS_T_STATEMENT 1S T ACCOUNT_FK (AG * FROM_NAME VARCHAR2 (30 BYTE)
¥ * FROM_PHONE VARCHAR2 {15 BYTE)
* FROM_EMAL VARCHAR2 (50 BYTE) HRMHS T CURRENCY RATE
Ul HRHS T ACCOUNT * FROM_NATION CHAR (2BYTE) P * CURRENCY VARCHAR2 (4 BYTE)
HRHS T_BANK ° D VARCHAR2 (3 BYTE) = * FROM_ADDR VARCHARZ (100 BYTE) CASHBUYRATE NUMBER
P * BANK CODE VARCHARZ (30 BYTE; “ PABOWORD . VARCHAR2(X0BYTE) P ML ity bbb * FROM_ADDR DETAL  VARCHARZ (200 8YTE) CASHBUYSPREAD  NUMBER
BANK NAME VARCHAR? {50 BYTE} TYPE CHAR {1 BYTE} . PwWD VARCHAR2 (6 BYTE) * FROM_BANK CODE  VARCHAR2 (100 BYTE) CASHSELLRATE NUMBER
i * NAME VARCHAR2 (3 BYTE TYPE CHAR (2BYTE) A
BRANCH NAME  VARCHAR2(50BYTE) { ) SRV PR A= 0I VISR S Y ) CASHSELLSPREAD  NUMBER
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oy == VARCHAR2 (50 BYTE) EMAL VARCHARZ (SO BYTE) % g DATE gﬁ {100BYTE) l-'<‘ * GET_ACC NO VARCMARZ (2 BYTE) TCBUY NUMBER
ADDRESS VARCHARZ (100 BYTE) ADDR VARCHARZ {100 BYTE} by * GET_NAME VARCHARZ {3 BYTE) FosaL NUMBER
POST VARCHAR2 {10 BYTE) ADOR DETAL  VARCHAR2 (200 BYTE) sttt cmznome; * GET_PHONE VARCHAR2 (15 BYTE) BASICRATE NUMBER
* GET_EMAL VARCMARZ (50 BYTE}
e HS_T_MEMBER_PX (D] - g CONVERSION NUMBER
o MS_T_BANK_PK {BANK_CODE) 2K _PK(D) F* D VARCHAR2 {3 BYTE) « GET NATION CHAR (28YTE) esstipon e
= HS_T_ACCOUNT_PK(ACC_NO) * GET_ADDR VARCHAR2 (100 BYTE) REGOATE DATE
* GET_ADDR_DETAL VARCHARZ {200 BYTE)
* 8 HS_T_ACCOUNT_HS_T_MEMBER_FK(ID) STATUS VARCHAR?{ 100 BYTE) @ HS_T_CURRENCY_RATE_PX (CURRENCY)
HRHS T REN PO STATUS_DESC VARCHAR2 (500 BYTE)
P * INFONO NUMBER 7 A ails
© NAME VARCHAR2 (30 BYTE} |& HS_T_RECEVED_PK (RECEVED_NO)
. HRHS
PHONE VARCHAR2 {15 BYTE) SRR |5 HS_T_RECEVED WS T_ACCOUNT_FK (GET_ACC N
© EMAL VARCHARZ {50 BYTE) P * REM_NO NUMBER
© NATION CHAR (2BYTE} F * INFO_NO NUMBER
* ADDR VARCHAR2 (100 BYTE} ACC_TYPE VARCHAR2 (100 BYTE)
* ADDR_DETAL VARCHARZ {200 BYTE) F * ACC_NO VARCHAR2 (20 BYTE) HRHS T _MISTAKEN
* CURRENCY VARCHARZ {100 BYTE) © AMOUNT NUMBER P * MIS NO NUMBER
* BANK NAME VARCHAR2 (100 BYTE) EXCHANGE RATE  NUMBER REASON VARCHAR2 {300 BYTE)
B VARCHAR2 20 BVTE) RMDATE DATE o) ASCH i, WnOI R YTR)
2, S STATUS VARCHAR2 {100 BYTE)
© BANK_NATION CHAR (2BYTE)} o) CHARGE ACC NO VARCHAR2 (20 8YTE) ‘-ﬁ‘ * REM_NO NUMBER
* BANK_ADDR VARCHAR2 (100 BYTE) REM_CHARGE NUMBER REG_DATE DATE
* BANK_ADDR DETAL  VARCHARZ {200 BYTE) INTER CHARGE ~ NUMBER -
MY_DESC VARCHAR2 (50 BYTE) * CABLE_CHARGE NUMBER i HS_T_MISTAKEN_PK (MIS_NO)
* STATUS VARCHAR2 (10 BYTE) * CHARGE COVER  CHAR (2BYTE) HS_T_MISTAKEN_HS_T_REMITTANCE_FK (REM_NO)
STATUS_DESC VARCHARZ {100 BYTE) STATUS CHAR (2BYTE)
F*D VARCHARZ () BYTE) RESERVED DATE  DATE
REG_DATE DATE STATUS_DESC VARCHAR2 {100 BYTE)
e HS_T_REM_INFO_PK (INFO_NO) 3> HS_T_REMITTANCE_PK (REM_NO)
HS_T_REM_INFO_HS_T_BANK_FK (BANK_CODE) HS_T_REMITTANCE_MS_T_ACCOUNT_FK(ACC_NO)
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#01 WebSocket

<websocket:handlers>
<websocket:mapping handler="echoHandler" path="/echo" />
<!-- handshake -> handlerd 27| H0| httpSessiont E2otd MEE g2 40 80 AT 5= UEE H2| -->
<websocket:handshake-interceptors>
<bean class="org.springframework.web.socket.server. support.HttpSessionHandshakeInterceptor"/>
</websocket:handshake-interceptors>

</websocket:handlers>

F/ =30 gyE 2de o /MY B4 85 - client?t serverd| B4 43
@override @0verride . . . ) .
protected void handleTextMessage(WebSocketSession session, TextMessage message) throws Exception { public void afterConnectionEstablished(iebSocketSession session) throws Exception {

i " "

System.out.println("afterConnectionExtablished” + session);

System.out.println("handleTextMessage : " + session + + message);

i - ; . fIEST fHE o o7 2yl ST
String senderld = getld(session); sessions.add(session);
//Protocol @ gmd(remittance, recieve, reserve, mistaken), #g id, 3T 0|8, status(=Y 23)
String msg = message.getPayload();
if(!msg.equals("")) {

String[] strs = msg.split(",");

//sessiont] E7 E5E509ls id =3| - 229 Zo9ed id, OtUH session id
String senderId = getId(session);
userSessionsMap.put(senderId, session);

if(strs != null &% strs.length == 4) {
Str}ng cmd.= strs[@]; //¥E $HEY - connection closed |
String recieverId = strs[1]; @Override

String recieverfame = strs[2]; public void afterConnectionClosed(WebSocketSession session, CloseStatus status) throws Exception {
String status = strs[3]; System.owt.println(“afterConnectionEstablished : " + session + " @ " + status);

WebSocketSession recieverSession = userSessionsMap.get(recieverId); userSessicnsMap. remove (session.getId());

sessions.remove(session);
if(recieverSession != null) {

TextMessage sendMsg = null;
if(cmd.equals("remittance™)) {

sendMsg = new TextMessage(recieverName + "Ho| B¢ #j2l%3 Yol EoolEE YUt (" + status + ")");
telse if(cmd.equals("recieved”)) {

sendMsg = new TextMessage(recieverName + "E7 ME2 #2lwz0l =& U");
telse if({cmd.equals("remInfc")) {

sendMsg = new TextMessage(recieverName + "H0| 4E% H2UHIELT Ho|ERY&UC (" + status + ")");
telse if(cmd.equals("mistaken™)) {

sendMsg = new TextMessage(recieverlName + "HO| 413 ZHesg 27t TH0IEYUeHST (" + status + ")");

}

recieversession. sendMessage(sendMsg);
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#01 WebSocket

7= function connect()}{

8
|
a8
1
2
3
r
5
B
7
a8
9
5]
1
2
3
a
5
B
7
a8
g
e }
1

2

3

var ws = new WebSocket("ws://" + location.host + "/Hana-5afe/echo™);
socket = ws;

ws.onocpen = function(){
console.log( 'Info:connection opened.'};

{/connectiond| EHO messages 2T
ws.onmessage = function(event){

console.log{"Receive Message
¥

+ event.data + "/n')

ws.onclose = function(event){
console.log( "info : connection closed ');
f/setTimeout (function(){ connect(}; 7}, 1@88) //retry connection

1;

ws.onerror = function(err){ console.log('error :", err); };

connect();

var socket = null;

= function connect(){
var ws = new WebSocket("ws://" + location.host + "/Hana-5afe/echo");
socket = ws;

ws.onopen = function(){
console.log('Info:connection cpened.’);

/fconnectionO| ZMOf message S 22Ut
ws.onmessage = function(event){
conscle.log("Receive Message @

w

+ event.data + "/n")

toastr.info{event.data, 'MEZ Hz=E
"width": “Seapx”,
"background-color”

1)
h

24"y, css({

: "H#BE3455"

ws.onclose = function(ewvent){
console.log('info : connection closed ');

b5

ws.onerror = function(err){ console.log('error :

»oerr); i

connect();




#02_Javax mail, Thymeleaf

<!-- @Gmail --»

<bean id="mailSender" class="org.springframework.mail.javamail.JavaMailSenderImpl">
<property name="host" value="smtp.gmail.com" />
<property name="port" value="587" />

<property name="username" value="${email.id.gmail}" /> @0verride
<property name="password" value="${email.password.gmail}" /> public void sendEmail(String emailAddr, String fromName) throws MessagingException{
<property name="javaMailProperties">
<props> Context context = new Context();
<prop key="mail.smtp.auth">true</prop> context.setVariable("homepageUrl"”, "http://localhost:9999/Hana-Safe/remInfo/ask/auth”);
<prop key="mail.smtp.starttls.enable">true</prop>
</props>
</property> String from = "hanasafetransfer@gmail.com";
</bean> MimeMessage message = mailSender.createMimeMessage();
T MimeMessageHelper helper = new MimeMessageHelper(message, true, "utf-8");

<!-- o|tg format thymeleaf €4 -->
<bean id="templateResolver"
class="org.thymeleaf.spring4.templateresolver.SpringResourceTemplateResolver">

<property name="prefix" value="classpath:/templates/" />
<property name="suffix" value=".htmlL" />
<property name="templateMode" value="HTML5" />
<property name="characterEncoding" value="UTF-8" />
<property name="cacheable" value="false" />

</bean>

<bean id="templateEngine" class="org.thymeleaf.spring4.SpringTemplateEngine">
<property name="templateResolver" ref="templateResolver"” />
<property name="enableSpringELCompiler" value="true"></property>

</bean>

<bean id="viewResolver" class="org.thymeleaf.spring4.view. ThymeleafViewResolver">
<property name="characterEncoding" value="UTF-8" />
<property name="templateEngine" ref="templateEngine" />

</bean>

helper.setFrom(from);
helper.setTo(emailAddr);
helper.setSubject("[HanaSafe] " + fromName + "WHHAM sf2lsz MEozg aEaLC");

String htmlContent = springTemplateEngine.process("remInfoEmail™, context);
helper.setText(htmlContent, true);

mailSender.send(message);



#03_Spring Locale

<l-- ¢i0i message file ¥3 -->
<bean id="messageSource" class="org.springframework.context.support.ReloadableResourceBundleMessageSource">
<property name="basename" value="classpath:/Locale/messages” />
<property name="defaultEncoding" value="UTF-8" />
<property name="fallbackToSystemLocale" value="false" />
r/bean>
<l-- LocaleResolver £3d --> 7 g Lonig
<bean id="localeResolver" class="org.springframework.web.servlet.118n.SessionLocaleResolver"> v % locale
<property name="defaultlLocale" value="ko"></property>
</bean>

messages_en.properties
messages_ko.properties

<!-- change interceptor --> = messages_zh.properties

<mvc:interceptors>
<bean id="localeChangeInterceptor" class="org.springframework.web.servlet.118n.LocaleChangeInterceptor">
<property name="paramName" value="locale" />

< :; bea-—- function localeChange(locale){
*C/rnva var url = getContextPath() + '/change?locale=' + locale;

$.ajax({
url : url,
type : 'get’,
success : function(){
location.reload();

@GetMapping("/change")

public String changelocale(Locale locale, HttpSession session) {
session.setAttribute("langauge", locale.getlLanguage());
return "redirect:/";

}J
error : function(){
alert('¢lo] ¢t obEol oy 2 ")

BPWNERE O WWE SOV W
1 x)



#04_Python Web Scraping

# virable

url = "https://www.kebhana.com/cms/rate/wpfxd651_01i_01.do”

! ) olg HE E2lA Che A AlZH ObX| 2 A AlZH obxiet 4 Ea
data={"ajax": "true”, "curCd": ", "tmplngStrDt"; nowDateFormat1, "pbldDvCd™: 3, "pbldSqn™:"", "hid_key_data™:"", (B Adobe Aco.. TH| 013 He| 23|47} Hols| YLt 2020-10-07 2% 70000 2020-10-06 0% 111734 Y BEHELICH 0:0)
"ingStrDt":nowDateFormat2,"inqKindCd™:1 ,"hid_enc_data""", "requestTarget™:"searchContentDiv" } (B GoogleUpda.. &8 0f2f 7§e| £2|A7 He|g|dg L ct 2020-10-08 @7 120714 2020-10-07 @7 120715 X8 LEHSLICL (0x0)
#data0| tmplngStrDt 2 ingStiDts £3|E Hdts JIRE $Hs0pE L T (B GoogleUpda.. & MY o 12070] - E2|HE ¥ 1 ¥ 7|2 S 1 A|ZOCH drEgLCh 2020-10-07 @7 30714 2020-10-07 2% 20716 HYE LPEHSLICL (0x0)
@HS T CURRE. FH| OfY 7 9000f - E2|E & 27|$o2 5 HOjC} YhEghL|Ch 2020-10-07 Q7 23500  2020-10-07 7 22926 2 VI £= BRIt 2HE HEH
®nWizard B2. EH| ARt 2I2% 0 2020-10-06 2F 110533 A& LEHSLICL (00)
(@ OneDrive St EH| 1992-05-01 2F 12000 - E2|HE ¥ 27|32 2 100000001 HHEBILICE  2020-10-07 2F 24405  2020-10-06 2F 33925  (OxB004EEM4)
# request(POST) (@ OneDrive st E| 1992-05-01 27 4000] - E2|HE = F7(222 100000000t HHERLICE  2020-10-07 @7 40919 2020-03-20 @F 14639 ZRA A7} O7|X| 2H FREAEL
res = requests.post{url, data) (® User Feed 5. FH| 02 27 8170 - 2030-10-07 27 817430] 2|77 H=ELICL 2020-10-07 @7 81743 2020-10-07 27 20915 LA & ARUSLICL 00)
# soup
soup = BeautifulSoup(res.content, "html.parser”) < >
e =2 s3% =W €3 JSMS o E
#print(soup)

o8- HS_T_CURRENCY_RATE_AUTO
AR\

| ot

O]:  DESKTOP-35KRN43\HP

=
e
o,
23

title_data=soup.select(".txtAr)

array = [[0 for col in range(12)] for row in range(50)] # 49%H12E 4 A

myList=[]
moneyList=["USD", JPY', EUR’, CNY","HKD", THB', TWD', PHP",'SGD", AUD", VND','GBP", CAD",
| 'MYR', RUB",ZAR', NOK', NZD', DKK', MXN',MNT', BHD'", BDT','BRL’, BND",'SAR, axsd
"LKR','SEK’,'CHF',AED", DZD',OMR’, JOD", ILS'EGP", INR’, IDR’,'CZK', CLP", H2E UBL U MST A4S AT,
KZT','QAR',KES'/COP', KWD', TZS", TRY', PKR", PLN', HUF,"dum’]

DESKTOP-35KRN43\HP
ASRTHEI2T TR 4T
NSRS 212 020] 3A 20| 4T
YSE MY RELICLO| HYS TH AAUT BHAE S USLIT
J WY pR $E0 Apo= 4R

for i in range(50):
kk = array[i]
print(kk)
sql_query = 'update hs_t_currency_rate set CASHBUYRATE=:b, CASHBUYSPREAD=:c, CASHSELLRATE=:d, CASHSELLSPREAD=:e, REMITT.
cursor.execute(sql_query, b=kk[1], c=kk[2] , d=kk[3], e=kk[4].f=kk[5].g=kk[6],h=kk[7]i=kk[8],j=kk[9].k=kk[10].1=kk[11], m=now , a=kk

db.commit()




#05_Spring Scheduler

<!-- task scheduler o< -->
<task:scheduler id="jobScheduler" pool-size="18"/>
<task:annotation-driven scheduler="jobScheduler"/>

@Scheduled(cron = "@ @ 9 * * MON-FRI"™)

@Override

@Transactional

public void insertRemittanceFromReservation() {
System.out.println("A#HE 2&8Z~");

//25 = gt 2 42 25 remittancelistE 7tHS
List<RemittanceVO> remList = remittanceDAO.selectReservedTodayDateEqual();
//Z remListE &0 25 remittance & WiHAISID, AHefLE E7
if(remList != null) {
for(RemittanceV0 remittanceVO : remList) {
insertRemittance(remittanceV0);




#06_Transaction

<l-- E®E N2 -->

<bean class="org.springframework. jdbc.datasource.DataSourceTransactionManager" id="transactionManager" >
<property name="dataSource" ref="dataSource" />

</bean>

<tx:annotation-driven transaction-manager="transactionManager"/>

@0verride
@Transactional
public void insertRemittance(RemittanceVO remittanceV0) {
[ /e o] 2ast HE 285
Integer chargeTotal = (remittanceV0O.getCableCharge() + remittanceVO.getInterCharge() + remittanceVO.getRemCharge());
BigDecimal chargeTotalBig = new BigDecimal(String.valueOf(chargeTotal));
RemInfoVO remInfo = remInfoDAQ.selectRemInfoDetail(remittanceV0.getInfoNo());
BigDecimal mainAccBalance = accountDAO.selectAccountByAccNo(remittanceVO.getAccNo()).getBalance();
BigDecimal chargeAccBalance = accountDAO.selectAccountByAccNo(remittanceV0.getChargeAccNo()).getBalance();

[ /&3 =7t

remittanceDAO. insertRemittance(remittanceVo);

accountDAO.updateRemittanceAmount(remittancev0);

accountDAQ.updateRemittanceAmount(new RemittanceVO(remittanceVO.getChargeAccNo(), chargeTotalBig));

J/HEILG A, RS insert

StatementVO mainStatement = new StatementVO(remittanceVO.getAmount(), mainAccBalance.subtract(remittanceVO.getAmount()),
remInfo.getName(), remittanceVo.getAccNo(), "£2");

StatementV0O chargeStatement = new StatementVO(chargeTotalBig, chargeAccBalance.subtract(chargeTotalBig),
"glelsz 52", remittanceV0.getChargeAccNo(), "£2");

statementDAO. insertRemittanceStatement(mainStatement);

statementDAO. insertRemittanceStatement(chargeStatement);




